[ Efficiency vs vertpos |
- 05

20.45
4
2 04

9
$0.35

.................................................

.................................................

................................................

©
=
o
TTTTJTITTT
g

fay= | i, Lol Ll
o LI 3 <1
E=] 4
] L + + g
o - +[ 1] ]+
1H 4+ d A 4444 -4
B -+
- + <+
[ +

1

10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poM_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch4

N 0.5
R R e
w0 . . . . .

L R e e L L SR
> : : : : :

2 : : : : :

TRy T S S S
O Rt SIS UL SIS S
o o Mt SO
0.2 ooy T
SRR A I TS L
0w i B
0.05f -+ g v

0 A P I

R

ettici

Ratio

[y

9830 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>
Q. 0.45
IS
5 04
20.35
0.3
£0.25
5}
0.2
0.15
0.1
0.05]

lency

Ratio
lllljllll

=
T
i
+

-

05215510 =5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


